
IMPORTANT: 
Before you begin, make sure you familiarize 
yourself with all the parts and fully read the 
instructions.

CUSTOMER SERVICE: 
Toll free customer help line available weekdays 
between 7:00am and 6:00pm Central Time at 
800-463-0660.

TOOLS NECESSARY: 
Screw gun or Phillips screwdriver and tape 
measure. NOTE: If screw gun has a clutch, set to 
lowest setting so as not to over tighten and/or 
strip screws.

PARTS IDENTIFICATION:  

A Pilaster Pole 4 pcs
B Pilaster Extension Connect Clip 4 pcs

C Shoulder Screw, M4 x 6 mm long, 
3 mm Shoulder 16 pcs

D Phillips flat Head Wood Screw, 
#8 x 1” 16 pcs

E Nylon Push Rivet 16 pcs

Storage with Style Pilaster System
Installation Instructions for the SWS-PIL Series

STEP 3

Press Inward

Bottom View

Detach basket from slide assembly by pressing the clip release

STEP 2

Measure 15” between front and 
back poles and attach back pilaster 
poles (A) using #8 x 1” wood screws 
(4x each)

STEP 1

Place front pilaster poles (A) approximately 1 ¾” behind face 
frame using #8 x 1” wood screws (4x each)



STEP 7
Ensure slide 
assembly is seated 
properly and insert 
nylon push rivets 
as shown

Ensure proper 
clearance of hinges 
on doors and 
tighten screws 
holding extendable 
arms
 
Reconnect basket 
to slide assembly

SWSPIL10/18 v.1

STEP 5

Loosen 4 screws 
holding extendable 
arms

STEP 6

Extend arms to 
correct width 
based on cabinet 
width and connect 
shoulder screws 
with pilaster poles

STEP 4

Attach shoulder 
screws M4 x 6 mm 
(C) on 4 extendable 
arms

Shoulder 
screw

Loosen screw

Nylon push rivet


